Trigonometry (KEY)
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Convert the angle measures in degree to radians.
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Convert the angle measures in radians to degrees.
ig 7 T 37
6) 7) 1l red 8) 7 rad 9 red 10) : rad
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=300° =0475°  =30° =315 =195°

Find the length of minor arc AB using a proportion.

11) C=54m 12) C=112cm
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Find the area of the sector using a proportion.
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Given the length of one side of the 45-45-90 triangle at the right find the other two sides to the nearest tenth..
15 J=7 K=7 16) K=114Z J=112 =15.6

=72=99 L =112 (+2)=22
17) L=82 J= 8\7_/5 = 18) L=26 J= %=18.4
K=8 K =18.4




Given the length of one side of the 30-60-90 triangle at the right find the other sides to the nearest tenth.

19) U=5 20) U=9.43 21) V=38

V=52)=10 V=(93)2)=18.3 =312 U=38/2=19

T=5f3)=87 T=09/3(3)=27 T =19(~3) =329 60°
22) T=143 23) T=22 24) V=123
S gy U=22=127 u=12¥8 = 6 5=104
V3 V3 2
V = 14(2) = 28 V= %{3) =254 T =63(3)=6(3) = 18
A
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In the figure at the right the ratio e 13
25) BC =35, find AB and AC. 26) AB =52, find BC and AC. .
S _35 5_BC 13_A4C
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‘4'1‘-":3“(.1 ) 1,225+AB-=8,28] 25+b°=169 BC= L) Apuitod)
D \B=81 h=12 l ’.'r_ — 12
AC=91 ‘ BC=21.7 AC=563

Givetheindicated trigonometric ratio as afraction and to four decimal places.

27) Sin/C 28) Tan /F 29) Cos /D 30) Tan ZA
12/37 =.3243 Can’'t Do! 20/29 = .6897 35/12 = 2.9167
31) Sin/E 32) Cos/D 33) Sin/A 34) Cos/C

20/29 = .6897 20/29 = .6897 35/37 =.9459 35/37 = .9459

Givetheindicated trigonometric ratio as afraction and to four decimal places.

35) Sin30° 36) Sin45° 37) Sin60°
5 T 2 s
1/2 = 5000 1 £ =.7071 ‘E =.8660

Na)




38) Cos 30° 39) Cos45° 40) Cos60°
M2 = 8660 ?:iz 1/2 = 5000
41) Tan 30° 42) Tan 45° 43) Tan 60°
5
L:‘E:,ﬁ?m L_1.0000 ’f_ =.3=1.7321
J3 03 |
Find the trigonometric ratios using the information given. Use the figure at the right. P
44) Sin /P=3/5 Cos/R= Tan /P=
F+b?=5% b=4 4/5 = .8000 3/4 = .7500
Q
45) Tan /P=2/6 Sin/P= Tan /R =
2+6=c%c=2/10 2/2410 5v10/10 = .3162  6/2= 3.0000
46) Tan /R=15/8 Tan /P= Sin/P=
8 +15°=¢% c=17 8/15 = .5333 8/17 = .4706
Use the information given to find the lengths of the missing sides in the triangles below.
47%( Sin X = 4/5. 48) 56 U 49) % 50) JN 18°
Tan V=28/4 300 0
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Use the given information to find the measures of angles A and B.

51) a=12,¢=20 52) b=24,c=26
C
12 2-
Sin LA=— Cog A= —4
20 26 A
H =1 : i -1 12' =1 -1 .l-l'
i (SN LA4)= SR {ﬁ) Cog (Cog A4) = Cos {?}
L 20
m-4=36.9° m-A4=22.6°

m-B=90°-36.9°=53.1°| |m-B=90°-22.6°=67.4°

53) a=14,b=19 54) b=21,c=28
21
Tan ~A= b Sin /B=
19 28
s, 14 1 2]
1 1= 1. 4 = -—
Tan™ (Tan 2 A) = Tan (10} Sin~(Sin ZB)=Sin (=)
m_A=36.4" m-B=48.6°
mZB=90°=36.4°=53, m—A4=90"-48.6°=41.4°
Solve AABC using the information given in each problem.
55) A =20°,a=15 56) A=38°,b=23 57) B=50° a=18
m/B =90° - 20° = 70° m/B =90° - 38° = 52° m/A =90° - 50° = 40°
St 20° 2 b
0°= = .a .
o E Tan 38°= Tan 50°=—
" 23 18
5
0= ——— Tan 38%(23)=a Tan 50%(18) =15
Sin 207
L A1 =
c=43 9 a=18 n=21.5
5 23
Tan 20%= Cos 387 = Sin 40
I s
15 23 18
h=—-— e o= :
Tan 207 Clos 38~ o 407

b=41.72 G=292 ¢=28.0




